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AAU :

(1) €35 usrll 2Rl AHIA 9.

Instructions : All questions carry equal marks.

1. (a)

(b)

(b)

(b)

4. (@)

(b)

(2) Al $HIs UHIBL o G-l sHis Avil.
Keep the same order of questions and its answers.

elRdML A 2as-l glg e qaell wgudl. 14
Give the growth trends of National Income of India.

AYA/OR
LA 2as Huardl Y 9lg uala 244 Wl ugld Axemal.
Explain the value added method and expenditure method of measuring National
Income.

iRdHl wals, [dld 2 Aqaadl sl 21asMl s1Ul AHAAl. 14
Give the contribution of primary, secondary and tertiary sectors in India’s National
Income.

A19q/OR
MR HeTartl dal oRudl dudl 9lg g2 weual.
Which are the important sectors of Indian Economy ? State their growth rates.

sRuLoll silatl el AHANdL del dAle i dlRee il 14

Give meaning of Green Revolution and state its advantages and disadvantages.
UA/OR

AL M YHIRUAL HETAAL SIUBI2AL AHAAL

Explain the important laws of Land Reforms in India.

MRl Aetul drdlzisHeidl Rigid a4endl. 14

Explain the theory of Demographic transition with respect to Indian economy.
AYQP/OR

MIRd ASRAL dlgdr-l axdl lld eudl.

State in brief the recent population policy of Government of India.

5. %RUAL WHIGL $3U ¢ 14
Do as Directed :

(a)
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voy o 2sHL wAlel UL ¢ (SISURL AR) 4
Write very short answers : (any four)
(1) A vl 4 8 Gauled ed g ?
What is GDP at factors Cost ?
1 P.T.O.



(2) o2 Ml s 44, Gulert vied g ?
What is GDP at Market Price ?
(3) MR vled g ?
What is Birth Rate ?
(4) Al U 20y Ved g ?
What is Average Life of population ?
(5) ¥l YARLAL 22
Meaning of Land Reforms.
(6) Rl silarl e
Meaning of Green Revolution.
(b) 2L sl WAl 9 5 vilel d aeudl
State whether the following are true or false :
(1) &Rl sild 1955-5641 4 edl.
Green revolution started in 1955-56.
(2) GDP 24 GDPmPHL 518 dslad 4l
There is no difference between GDP and GDPmP.
(3) Aluid vigd 2ed Aot vigd.
Marginal farmer means Poor farmer.
(4)  Aldcianzel »ied o Y3l A4 ga w2l qval.
Sex ratio means member of women against total men.
(5) IRdHL ©9ed 201141 AdloRid?]l sl »udl edl.
The last population census was undertaken in India in 2011.
(c) AL ocotiil AL gl dvull ¢
Choose the correct option :
(1) Aol vidlRs delad 9 sdaud o ?
What is net domestic product ?

(@) NDP (b) GDP (c) GNP (d) NNP
(2) sRuvll sila-l wBldL 58l gdl ?

(@) UL Hela (b) 3[as Rsusl

(€) 3L U sl @d W adz

Who is the promoter of green revolution ?

(@ Marshall (b) David Ricardo

(c) Adman Flores (d) Larner

(3) RdHl sRawdll sifa-dl azzid su2 w4 2

When was green revolution started in India ?

(a) 1955-56  (b) 1966-67 (c) 1973-74 (d) 1975-76
(4)  HIRdHL ardl 2RLdT] Seal adl L ¢9 ?

(@ v (b) ex (c) ueR d) ol
In India census is conducted every

(@) Five Years (b) Ten Years

(c) Fifteen Years (d) Two Years

N

(5)  UlLs At 3dlsRel 2 SRl 2esiadl el slUel sul 9 ?
Which Law is in place to control economic power and monopoly ?
(8 MTPT () MRR
() MRTP (d) MCRT
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